Conservation of Enerqgy

When only conservatlve forces (like gravity) work on an object
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For situations where only conservatlve forces are.involved:
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Example: While jumping over The Great Wall of China an 82 kg skateboarder is needs to

teave the ramp traveling at 78 km/h.
a. How much potential energy does he need to start with? . 2 T It
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b. What minimum height of ramp should he use? (&9\% (&‘ ’D?ma ;
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Example: A trampoline dunk artist is bounces to a maximum vertical height of 4.8 m before
Iaunching himself towards the hoop. At the top of his arc he is 3.2 m above the ground.
How fast is he traveling at this point?
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When nonconservative forces (like friction, air resistance) are at work, then the total
mechanical energy is changed.

If the work is positive work, then the object will (371 energy.
v

If the work is negative work, then the object will "0 energy.

Example:

a. Rusty Nales pounds a nail into a block of wood. The hammer head is moving
horizontally when it applies force to the nail. r
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b. The frictional force between highway and tires pushes backwards on the tires of a
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C. A welghtllfter applies a force to lift a barbell above his head at constant speed. ~
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